Residual versus local y

%\ — — @ 1esXT025GPst_physics _6035071.root ss (0,12]
~0.15 i
T - —e—— 1esXT025GPst_physics _6035071.root ss (12,24]
> n
i
D C | ——e—— resXT025GPst_physics_6035071.root ss (24,36]
q_) H H
O. 1 :
o - | ——e—— resXT025GPst_physics_6035071.root ss (36,48]
- s " s é
: : o : : :
0.05 I R e S i S — A—
- °c e
L - » Ty
Ofmig.n: ¢ .8 et b @ Ba oo S w e
: 8 ;' ' 4 “; o
o C Wo o 9o dofy®
3 : it
c0.05 b—ieeeeeeee e .m;mmmmmmmmmmmmmmmmmmmmj .....................................
_0.1_ I 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1

Wed Feb 9 11:46:58 2005

60 80 100

120 140 160 180
Local Y



